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Riding alone is not 712 — 1P KD 17 2199

OVERVIEW

oX1W ruled that concerning 7311 2107, one is 712 and the other not. 777 27
was uncertain which is which. Ultimately 777 29 resolved the query
regarding »n1m 2107 (from the mwn in 2°X%2) that (even) 77172 2137 is not
7np. This resolution requires us to rethink the original doubt of 777> 27
concerning the ruling of 2Xmw.
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It seems that ;7737° 29 was in doubt, whether he heard from »Xwaw (that

only one is 711?), concerning the 117 of 2129 alone and 2772» alone -
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And then it became obvious to 777> 27 that 2199 is not 73?; this is one
option of explaining the doubt of 77177 27 -
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Or whether he heard from X (that only one is 71)?) concerning 2127 in
conjunction with »7» and then his doubt was which of the two (2127 or
emn) is .’

mooIn explains the need to assume that 777> 27 had this twofold poo:
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For if he had no doubt (as to which case “Xmw was referring to), but
rather 777 27 was certain that he heard from X12@ only concerning 2129

A% RIPMR (the latter option in N®DIN), but not concerning 777 27321 2137 -
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If this is indeed so then ®X»w must maintain that 2121 alone ( 2)pn2 XoW
177In) is P -
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But now 77371 21 resolved that even 2101 alone is also not 71317.° Therefore

we must assume that 77977° 27 was not certain regarding which case did X rule that 7n
°1p X7 MY °1p; was it concerning PTIN? °71M) 2197 or was it concerning 3°mIn 01pHA 2107,

" Everyone agrees that 371 is a proper 3p, so 2Xmw must have meant that 2137 is not 71p.

% 779 20 was then b9 that (3> o¥pra) 2107 (and even PTIN? 2107) is not AP

? See ‘Summary’.

* If 2191 alone is not 717 then 2101 is certainly not 371 Dpra Anp (why would PX8mw be teaching this); we
must therefore assume that 72 2137 is 711p (the question is if it is 371n DPR2 71p).

> a7 27 is contradicting his previous assumption (that 771 2191 is 711p). See previous footnote # 4
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SUMMARY

77 27 was uncertain whether 2%nw was discussing 702 20121 2107 (in
which case 777> 27 was certain that ?X1W ruled 2197 is not 713?); or whether
XM was discussing 2731 21p»2 2197 and 77T 29 was [initially] uncertain
which one is 7.

THINKING IT OVER

According to the [present] conclusion that *1p X? 7°717% 2197, what was 2Xmw
referring to when he ruled °1p X% 7m °1p 71, and what is the wv17°n of his
ruling?
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